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Y13 Applied Chapter 3—The Normal Distribution

IHE NORMAL DISTHBUH{]N “WHAT DO | MIED TO KNOW
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1 The Normal Distribution

| A continuous probabiity disfribution that can be used
:

\

to model vanables that are more likely fo be grouped
around a central value thon at extremities.

e o o o o o o o o o o o o om mm m om mm mm S

2 THE NORMAL DISTRIBUTION CURVE

f
1Symmetrically bel-shaped, with asymptetes at eoch end
68/ percent of dofa is within one sd of p
95 / percent of data is within two sd of p
997/ percent of data is within three sd of p
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mean = median = mode
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* THI NORMAL DISTRIBUTION TABLE

To find z-vdues that correspond fo given
probabilties, ie. PIZ » 2) = p use this 1cble:
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I" CALCULATORS FOR NORMAL DISTRIBUTIO

Choose extremely large or smal values for upper
Ch" lower limits as copropriafe

I Casio fx-991 EX:

| Menu 7 — Normal PD, Normal CD or Inverse Norml
|

' Casio 0650:

| Menu 2 - F5 Dist —F | Normal — Nipd, Ned or InvT)
:
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L The area under a confinuous probabiity
dstrbution curve = |

2 If X s a normally distributed random varable,
with population mean, . and popdlation vanance,
o wesay X ~Np. o)

3 To find an unknown vdue that is a imif for o

gven probabiity value, use the nverse normal
dstribution function on the calculator.

Y The notation of the stondard normd varicble 7
sZ~NM0,1°)

5. The formua fo standordse X5 z = —=

¥

6. The notation for the probability PIZ < b is glal

. To find an unknown mean or standard deviation
use codng and the standard normal varable, 7.

& Conditions for a Binomial distribution to be
approximated by a Normal dstrbution:

n must be lrge

p must be close fo 0.5

9 The mean calculated from an approxmated
Bincmial distribution & . = np

I0. The varionce cacuated from an approxmated
Binomial distribution & o® = npll — p)

I1 Apply a continuity correction when calculating
probobiities from an approxamated Binomial
dstrbution using imifs so that the infegers are
completely inclided or excluded, as requred

12 The mean of a sample from normaly distributed

population, is distributed os:

— 2 X-

X~N (,u,g—) then Z = Tﬂ
n =

AT

13. Skewed data is NOT ﬂr:rmd
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